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B.Com. DEGREE EXAMINATION, APRIL 2020 

Fourth Semester 

Commerce 

ADVANCED ACCOUNTANCY — IV 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract account? 

 J¨£¢u PnUS GßÓõÀ GßÚ? 

2. What is meant by Retention money? 

 öμõUP ¤izu C¸¨¦ GßÓõÀ GßÚ? 

3. What is meant by Royalty? 

 E›ø©zöuõøP GßÓõÀ GßÚ? 

4. What is sub-lease? 

 EÒSzuøP Gß£x GßÚ? 

5. Write type on Hire purchase system. 

 ÁõhøP öPõÒ•uÀ&SÔ¨¦ ÁøμP. 

6. What is copy right? 

 £v¨¦ E›ø© GßÓõÀ GßÚ? 
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7. What is dependent branch? 

 \õº¦QøÍ Gß£x GßÚ? 

8. Who are called in secured creditors? 

 ¤øn¯ PhÜ¢÷uõº Gß£Áº ¯õº? 

9. What do you mean by departmental account? 

 xøÓÁõ›U PnUSPÒ GßÓõÀ GßÚ? 

10. How do maintaining branch accounts? 

  QøÍ PnUSPøÍ GÆÁõÖ £›©›¨£õ´? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The following particulars relete to a contract 

 Rs. 

Materials issues 85,000 

Plant at cost  74,000 

Direct Exp. 15,000 

Establishment charges 13,000 

Wages 40,000 

Materials returns to stores 500 

Cost of work certifies 2,00,000 

Cost of work uncertified 4,500 

Materials on hand (31st December) 1,800 

Wages out standing 2,500 

Value of plant (31st December) 10,000 

  The contract price was agreed of Rs. 2,60,000 cash 
receiver from the contractor was Rs. 1,95,000 
prepare contract account. 
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  RÌPsh ÂÁμ[PÒ J¸ J¨£¢u® öuõhº¦øh¯x 

 ¹. 

‰»¨ö£õ¸mPÒ 85,000
ö£õÔÁøP (AhUPÂø») 74,000
÷|μi ö\»Ä 15,000
{ºÁõPa ö\»Ä 13,000
T¼ 40,000
£shPzvØS v¸¨¤ AÝ¨£¨£mh ‰»¨ö£õ¸mPÒ 500
\õßÖ AÎUP£mh ÷Áø» 2,00,000
\õßÖ AÎUP¨£hõ ÷Áø» 4,500
‰»¨ ö£õ¸mPÒ øP°¸¨¦ (31 i\®£º) 1,800
öPõk£h ÷Ási¯ T¼ 2,500
ö£õÔÁøP°ß ©v¨¦ 10,000

  J¨£¢u Âø» ¹. 2,60,000 GÚ J¨¦U öPõÒÍ¨£mhx. 

J¨£¢u® öPõkzuÁ›hª¸¢x ö£ØÓ öμõUP®  

¹. 1,95,000 .   

  J¨£¢uU P/S u¯õº ö\´P.  

Or 

 (b) State the "profit on incomplete contract. 

  "•iÄö£Óõ J¨£¢uvÀ Qøhzu »õ£® TÖP. 

12. (a) What are the different types of royalty? 

  SzuøP°ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Mumbai Coal company Ltd are the lessee of a mine 
on a royalty of Rs. 15 per ton of coal raises with a 
dead rent of Rs. 50,000 per annum and power to 
regroup short working during the five years of the 
lease. The out put for the first 6 if years were are 
follows: 

  I - 1500 tons; II - 5000 tons; III-7500 tons  

  IV-4000 tons; V - 6000 tons VI - 10000 tons 

  Prepare necessary account in the books of the 
mumbai coal Ltd. 
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  •®ø£ {»UP› {ÖÁÚzuõº J¸ _μ[Pzøu SzuøUS 

GkzxÒÍÚº. E›ø© öuõøP¯õP hß JßÖUS ¹. 15 

Ãu® {ºn°UP¨£mkÒÍx. SøÓ¢u£m\ ÁõhøP 

Á¸hzvØS ¹. 50,000. SøÓEØ£zvø¯ «mS® E›ø© 

•uÀ I¢x Á¸h[PÐUS EÒÍÚ. •uÀ BÖ 

BskPÎÀ EØ£zv Â£μ® 

  I - 1500 hß; II - 5000 hß; III-7500 hß 

  IV-4000 hß; V - 6000 hß; VI - 10000 hß 

  •®ø£ {»UP› {ÖÁÚzuõ›ß ¦zuPzvÀ ÷uøÁ¯õÚ 

PnUSPøÍ u¯õº ö\´P. 

13. (a) What are the advantages of hire purchase system? 
  uÁøn •øÓ öPõÒ•u¼ß |ßø©PÒ ¯õøÁ? 

Or 
 (b) On 1st January 2017. Shri Raj acquire a machine on 

hire purchases system. The terms of the contract 
were as follows: 

  (i) The case price of the machine was Rs. 10,000. 
Rs. 4,000 was to be paid 

  (ii) The balance was to be paid in 3 years annual 
instalments of Rs. 2,000 plus interest 

  (iii) Interest charable on balance was 6% P.a. 
  (iv) Depreciation -10% on straight line method. 
   Pass journal entries in the books of shri. Raj. 
  1.1.2017 AßÖ ÿμõä J¸ C¯¢vμzøu uÁøn 

öPõÒ•uÀ •øÓ°À Áõ[QÚõº. ÂÁμ® ¤ßÁ¸©õÖ 

     
  (i) öμõUP Âø» ¹. 10,000 EhÚiz öuõøP ¹. 4,000 

  (ii) £õUQ öuõøP 3 Á¸h uÁøn°À ¹. 2,000 

©ØÖ® Ámi 

  (iii) £õUQz öuõøP°ß «x Ámi 6% 

  (iv) ÷u´©õÚ® 10% ÷|º÷Põmk •øÓ°À 

   ÿ μõä ¦zuPzvÀ SÔ¨÷£mk £vøÁ u¯õº 

ö\´P. 
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14. (a) What is insolvency? Explain. 

  Phß wºUP ÁøP¯ØÓÁº GßÓõÀ GßÚ? ÂÍUSP. 

Or 

 (b) The assets of Ramaswamy on 31.6.2018 as shows by 
his books were Rs. 28,000 and his liabilities  
Rs. 22,000. He estimates his deficiency Rs. 15,000. 
He found the following were not taken into about. 

  (i) Interest at 6% on his capital from 1.1.2017 

  (ii) An contingent liabilities of Rs. 1,250 on bills 
discounted by his to Rs. 5,000 

  (iii) Amount due as wages Rs. 300, Rent Rs. 100, 
Taxes Rs. 150 

   Prepare statement of affairs and deficiency 
about. 

   v¸ Cμõ©\õª°ß ö\õzxPÒ, ö£õÖ¨¦PÒ 

31.6.2018 ß £i •øÓ÷¯ ¹. 2,8000, 22,000. 

AÁº PnUQß£i £ØÓõUSøÓ ¹. 15,000. ¤ÓS 

RÌPshøÁPøÍ PnUQÀ GkzxU 

öPõÒÍÂÀø» GßÖ AÔ¢uõÀ 

   (i) •uÀ «x Ámi 6% (1.1.2017) 

   (ii) {a\¯©ØÓ ö£õÖ¨¦ ¹. 1,250, Ámha ö\´u 

Esi¯¼ß «x ¹. 5,000 

   (iii) öPõk£h ÷Ási¯ T¼ ¹. 300, ÁõhøP  

¹. 100 Á› 150. {ø» AÔUøP²®. 

£ØÓõUSøÓ PnUøP²® u¯õº ö\´P. 



F–3506 

  

  6

WK11 
15. (a) From the following information, prepare Delhi 

branch about 
  Stock on 1st Jan 2018 Rs. 1,63,000 
  Goods sent to the branch Rs. 7,70,000 
  Branch debtors on 1st Jan 2018 88,000 
  Cash sent to branch for: 
  Rent Rs. 15,000 
  Salaries Rs. 55,000 
  Petty cash Rs. 7,000 
  Sales at branch: 
  Cash Rs. 3,00,000 
  Credit Rs. 2,55,000 
  Cash receives from debtors Rs. 5,15,000 
  Stock on 31st Dec 2018 Rs. 1,00,000 
  RÌPsh ÂÁμ[PÎ¼¸¢x. 2018 ® BskUPõÚ 

öhÀ¼ QøÍ°ß PnUQøÚ u¯õº ö\´P. 

  1.1.2018 \μUQ¸¨¦ ¹. 1,63,000 

  QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ ¹. 7,70,000 

  1.1.2018 QøÍ PhÚõÎPÒ ¹. 88,000 

  QøÍUS AÝ¨£¨£mh öμõUP® 

  ÁõhøP ¹. 15,000 

  \®£Í® ¹. 55,000 

  ]À»øμ öμõUP® ¹. 7,000 

  QøÍ°ß ÂØ£øÚ: 

  öμõUP® ¹. 3,00,000 

  Phß ¹. 2,55,000 

  PhÚõÎPÎhª¸¢x ö£ØÓ öuõøP ¹. 5,15,000 

  31.12.2018 \μUQ¸¨¦ ¹. 1,00,000 

Or 
 (b) How do you classify branches? 
  QøÍPøÍ GÆÁõÖ ÁøP¨£kzxÃº. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. The following information relates to building contract for 
Rs. 10,00,000 

 2017 2018 
 Rs. Rs. 

Materials issued 3,00,000 84,000 
Direct wages 2,30,000 1,05,000 
Direct expenses  22,000 10,000 
Indirect expenses 6,000 1,400 
Work certifer 7,50,000 10,00,000 
Work uncertified 5,000 – 
Materials at site 7,000 9,000 
Plant issues 16,000 5,000 
Cash received from contract 6,00,000 10,00,000 

 value of the plant 2017 and 2018 was Rs. 7,000 and  
Rs. 5,000 respectively. Prepare contract account and 
contractor account. 

 RÌÁ¸® Â£μ[PÒ ¹. 10,00,000 ©v¨¦ÒÍ J¸ Pmih 

J¨£¢uzvØS›¯øÁ 

 2017 2018 
 ¹. ¹. 

ö£õ¸mPÒ ÁÇ[Q¯x 3,00,000 84,000 
÷|μi T¼ 2,30,000 1,05,000 
÷|μi ö\»ÄPÒ 22,000 10,000 
©øÓ•P ö\»ÄPÒ 6,000 1,400 
\õßÓÎUP¨£mh ÷Áø» 7,50,000 10,00,000 
\õßÓÎUP¨£hõu ÷Áø» 5,000 – 
öuõÈ¼hzvÀ ~Pμõu ö£õ¸mPÒ 7,000 9,000 
uÍÁõh® ÁÇ[Q¯x 16,000 5,000 
J¨£¢u® ö£Ó¨£mhÁ›hª¸¢x    
öμõUP® ö£ØÓx 6,00,000 10,00,000 

 uÍÁõh ©v¨¦ 2017 ©ØÖ® 2018 À ¹. 7,000 ©ØÖ® 5,000 

•øÓ¯õP. J¨£¢uU PnUS ©ØÖ® J¨£¢u® AÎzuÁº 

PnUQøÚ u¯õº ö\´P. 
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17. Amala purchases a lorry for Rs. 56,000 payment to be 

made Rs. 15,000 down three instalments Rs. 15,000 each 
at the end of each year. Rate of interest is charges at  
5% p.a.  Buyer depreciates assets at 10% p.a. on written 
down value method  

 Because of financial difficulties. Amala, after having paid 
from payment down and first instalment to the end of 1st 
year, could not pay second installment and seller took 
possession of the  lorry. seller after spending Rs. 300 on 
repairs of the asset, sold it away for Rs. 30,110. 

 Show the ledger accounts in the books of both parties. 

 A©»õ Gß£Áº ¹. 56,000 ©v¨¦ÒÍ »õ› Áõ[QÚõº. AuØS 

¹. 15,000 E¸ÁõUP¨£mkÒÍx. AÁº JÆöÁõ¸ Bsk® 

CÖv°¾® ‰ßÖ ©õu uÁønPÍõP ¹. 15,000 ö\¾zxÁuõP 

J¨¦U öPõshõº. CuØPõÚ Ámi ÂQu® J¸ Á¸hzvØS 5% 

ÁõPÚzvß ÷u´©õÚ® J¸ Á¸hzvØS SøÓ¢u ö\À ©v¨¦ 

•øÓ°À 10% BS® 

 {v £ØÓõUSøÓ°ß Põμn©õP Cμshõ® uÁøn•øÓ 

ö\¾zuU uÁÔ¯uõÀ ÂØ£øÚ¯õÍº A¢u ÁõPÚzøu 

ChÁø©zxU öPõshõº. ¤ÓS ¹. 300 ö\¾zv, A¢u 

ÁõPÚzøu £Êx£õºzx ¤ÓS ¹. 30,110 US ÂØ£øÚ 

ö\´uõº. 

 Cμsk |£ºPÎß ÷£÷μmkU PnUSPøÍ u¯õº ö\´P. 

18. A Ltd has hire-purchase business and the installments 
are collecter over 3 year period. It decides to allocate the 
interest as follows: 

 I year 50%; II year 30%; III year 20%. 

 The hire purchase sales for the four years were as under; 
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 I year Rs. 10,000 of which Rs. 2,000 is interest 

 II year Rs. 20,000 of which Rs. 3,000 is interest 

 III year Rs. 30,000 of which Rs. 6,000 is interest 

 IV Year Rs. 60,000 of which Rs. 10,000 is interest 

 Show interest suspense accounts and profit and loss 
account to the relvent years.   

 A ¼ªöhm uÁøn•øÓ¯õÀ ö£õ¸Ò ÂØÓ Âø»ø¯ ‰ßÖ 

Á¸h Põ»©õPz v¸®¤¨ ö£ØÖÒÍx 

 Ámi 

 I Á¸h® 50; II Á¸h® 30%; III Á¸h® 10% 

 uÁøn •øÓ ÂØ£øn •uÀ |õßS BskPÒ 

 I  ¹. 10,000 (¹. 2,000 Ámi) 

 II ¹. 20,000 (¹. 3,000 Ámi) 

 III ¹. 30,000 (¹. 6,000 Ámi) 

 IV ¹. 60,000 (¹. 10,000 Ámi) 

 Ámi PnUøP²® C»õ£ |mh PnUøP²® u¯õ›UPÄ®. 

19. Calculate preferential creditors in the following liabilities 
of insolvent Mr. X according to the presidency towns 
insolvency Act and province insolverey Act 

 Rs. 

3 month's salary for 10 clerks 3,600 

one month's wages of 12 labours 1,600 
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 Rs. 

Sales tax 400 

3 month's rent land lord 600 

Income tax 1,000 

Wages for four servants 1,000 

Salaries 1,400 

Municipal tax 400 

Wages 6,000 

 Siø©¨ö£¸ |Pμ ö|õi¨¦ \mh® ©ØÖ® ©õPõn ö|õi¨¦ 

\mh[PÎß £i ö|õizuÁμõÚ v¸. X AÁºPÎß ¤ßÁ¸® 

ö£õÖ¨¦UPÎÀ C¸¢x •ßÝ›ø©U PhÜ¢÷uõøμU 

PnUQkP. 

 ¹. 

3 ©õu \®£Í® (10 QÍõº) 3,600 

J¸ ©õu T¼ (12 öuõÈ»õÎ) 1,600 

ÂØ£øÚ T¼ 400 

3 ©õu ÁõhøP ({» E›ø©¯õÍº) 600 

Á¸©õÚ Á› 1,000 

|õßS ÷Áø»¯õmPÎß T¼ 1,400 

\®£Í[PÒ 1,000 

|Pμõm] Á› 400 

T¼ 6,000 
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20. U and V purchased goods to his three departments as 

follows: 

Dept. A-200 units 

Dept. B-1400 units 

Dept. C-400 units 

 

 

Total cost as Rs. 5,100 

 Sales of the departments were as follows: 

 Dept- A 180 units @ Rs. 15 P.V 

 Dept- B 1500 units @ Rs. 18 P.V 

 Dept-C 450 units @ Rs. 6 P.V. 

 Other information about stock in the beginning were as 

follows: 

 Dept A - 100 units 

 Dept B - 400 units 

 Dept C - 60 units 

 U and V informs you that the rate of gross profit in the 

same in all departments you requires to prepare 

department trading account. 
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 U ©ØÖ® V Gß£Áº ußÝøh¯ ‰ßÖ xøÓPÐUS ö\´u 

öPõÒ•uÀ ¤ßÁ¸©õÖ: 
xøÓ A-200 A»SPÒ 

xøÓ B-1400 A»SPÒ 

xøÓ C-40 A»SPÒ 

 
 

ö©õzu öPõÒ•uÀ ¹. 5,100

 xøÓPÎß ÂØ£øÚ Â£μ® 

 xøÓ A - 180 A»SPÒ ¹. 15 Ãu® 

 xøÓ B - 1500 A»SPÒ ¹. 18 Ãu® 

 xøÓ C - 450 A»SPÒ ¹. 6 Ãu® 

 öuõhUPa \μUQ¸¨¦ Â£μ® 

 xøÓ A - 100 A»SPÒ  

 xøÓ B - 400 A»SPÒ 

 xøÓ C - 60 A»SPÒ 

 JÆöÁõ¸ ÂØ£øÚ°¾® ö©õzu C»õ£ ÂQu® J÷μ ©õv› 

C¸¢ux GßÖ U ©ØÖ® V öu›ÂUQÓõº. xøÓÁõ› 

Â¯õ£õμU PnUSPøÍ u¯õº ö\´P. 

———————— 


	com-2.pdf
	7BCO 4C4.pdf


